

Letting:

04220401

Florida Department of Transportation

04/01/2022

Page 1 of 1

Vendor Ranking

Call Order: 002 Contract: E4V88-R0

District: District 4 Counties: PALM BEACH Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44443317201 (*)

Contract Desc: PALM BEACH COUNTY PAVEMENT MARKINGS - ROUTINE MAINTENANCE

April 01, 2022 10:30 AM

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ROAD RUNNER STRIPING TECHNOLOGIES INC.	Responsive	Winning bid	\$403,855.00	100.00%
2	AKCA, LLC	Responsive	Non-Winning Bid	\$443,768.00	109.88%
3	TRP CONSTRUCTION GROUP, LLC	Responsive	Non-Winning Bid	\$552,472.25	136.80%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 04/26/22 BEGIN TIME: 10:30 AM END DATE: 04/29/22 END TIME: 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the maximum limiting budgeted amount of \$300,000.00 and not the contractors bid total.





Tabulation of Bids

Page 1 of 6

Letting: 04220401 April 01, 2022 **Call Order:** 002 **Contract:** E4V88-R0

District: District 4 Counties: PALM BEACH Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 44443317201 (*)

Contract Descr: PALM BEACH COUNTY PAVEMENT MARKINGS - ROUTINE MAINTENANCE

The work under this contract consists of installing, removing, and replacing thermoplastic pavement markings and raised retro-reflective pavement markers at various locations on primary roads in Palm Beach County.

- MAXIMUM LIMITING: The award amount and the contract performance bond shall be based on the maximum limiting budget amount of \$300,000.00 and not the contractors bid total. There is no guarantee of minimum or maximum amount to be issued under this contract.
- PERFORMANCE BOND: A Contract / Performance bond is required for this project
- REQUIRED SUBMITTAL WITH BID: Experience in Pavement Markings. Work experience form 850-070-06 must be submitted with the bid.
- GENERAL LIABILITY: The limits of coverage shall not be less than \$1,000,000 for each occurrence and not less than a \$5,000,000 annual general aggregate, inclusive of amounts provided by an umbrella or excess policy. The limits of coverage described herein shall apply fully to the work or operations performed under the Contract, and may not be shared with or diminished by claims unrelated to the contract. The policy/ies and coverage described herein may be subject to a deductible. Pay all deductibles as required by the policy. No policy/ies or coverage described herein may contain or be subject to a Retention or a Self-Insured Retention.

Line No / Item ID Alternate Item Description	Quantity Units	(1) ROAD RUNN TECHNOLO		(2) AKC	A, LLC	· ,	NSTRUCTION IP, LLC
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (PA	AVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0005 0711 12101 THERMOPLASTIC, REFURBISHMENT, WHITE, SOLID, 6"	45.000 GM	2,750.00000	123,750.00	3,300.00000	148,500.00	3,000.00000	135,000.00
0010 0711 12121 THERMOPLASTIC, REFURBISHMENT, WHITE, SOLID, 6" FOR MAINTENANCE USE	2,000.000 LF	0.78000	1,560.00	0.70000	1,400.00	1.35000	2,700.00
0015 0711 12122 THERMOPLASTIC, REFURBISHMENT, WHITE, SOLID, 8" FOR MAINTENANCE USE	2,000.000 LF	1.35000	2,700.00	1.00000	2,000.00	1.50000	3,000.00



Page 2 of 6

Florida Department of Transportation



Tabulation of Bids

Letting	j : 04	1220401 <i>A</i>	April 01, 2022	Cal	II Order: 002		Contract:	E4V88-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) ROAD RUNN TECHNOLO		(2) AKC	A, LLC		ISTRUCTION IP, LLC
() ind	licates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
WHITE,	SOLID, 12" FO	EFURBISHMEN OR CROSS WA MAINTENANCE	LK	2.65000	5,300.00	4.00000	8,000.00	2.70000	5,400.00
WHITE,	SOLID, 18" FO	EFURBISHMEN OR DIAGONAL ANCE USE ON	OR	3.20000	6,400.00	4.00000	8,000.00	5.00000	10,000.00
WHITE,	SOLID, 24" FO	EFURBISHMEN DR STOP LINE ENANCE USE		4.75000	9,500.00	5.50000	11,000.00	7.00000	14,000.00
0035 THERMO WHITE,		EFURBISHMEN	20.000 T, GM	800.00000	16,000.00	1,100.00000	22,000.00	1,000.00000	20,000.00
WHITE,	2-4 DOTTED TENSION, 6",	EFURBISHMEN GUIDELINE / 6 MAINTENANCI	6-10	100.00000	2,000.00	200.00000	4,000.00	1,500.00000	30,000.00
0045 THERMO MESSAO		EFURBISH, WH	20.000 ITE, EA	125.00000	2,500.00	150.00000	3,000.00	140.00000	2,800.00
0050 THERMO ARROW		EFURBISH, WH	20.000 ITE, EA	90.00000	1,800.00	120.00000	2,400.00	70.00000	1,400.00



Page 3 of 6

Florida Department of Transportation



Tabulation of Bids

Letting:	042	20401 A	pril 01, 2022	Cal	l Order: 002		Contract:	E4V88-R0	
Line No /		Alternate	Quantity Units	(1) ROAD RUNN TECHNOLO		(2) AKC	A, LLC		ISTRUCTION IP, LLC
	-	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: (0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
		FURBISHMEN	20.000 T, GM	2,750.00000	55,000.00	3,300.00000	66,000.00	3,000.00000	60,000.00
THERMOPLA		FURBISHMEN' AINTENANCE	2,000.000 T, LF	0.78000	1,560.00	0.50000	1,000.00	2.00000	4,000.00
THERMOPLA		FURBISHMEN INTENANCE		0.85000	1,700.00	0.50000	1,000.00	2.00000	4,000.00
THERMOPLA YELLOW, SC	DLID, 18" F0	FURBISHMEN OR DIAGONA ENANCE USE	2,000.000 T, LF L	3.00000	6,000.00	4.00000	8,000.00	5.00000	10,000.00
		FURBISHMEN	20.000 T, GM	800.00000	16,000.00	1,100.00000	22,000.00	1,000.00000	20,000.00
THERMOPLA YELLOW 2-4	DOTTED (FURBISHMEN GUIDELINE/ 6 IAINT USE ON	-10	100.00000	2,000.00	200.00000	4,000.00	1,500.00000	30,000.00
0085 071 THERMOPLA WHITE, MES		EFORMED,	20.000 EA	205.00000	4,100.00	180.00000	3,600.00	220.00000	4,400.00
0090 071 THERMOPLA WHITE, ARR		EFORMED,	20.000 EA	95.00000	1,900.00	90.00000	1,800.00	165.00000	3,300.00





Tabulation of Bids

Page 4 of 6

Letting:	042	220401	April 01, 2022	Cal	l Order: 002		Contract:	E4V88-R0	
	o / Item ID escription	Alternate	Quantity Units	(1) ROAD RUNN TECHNOLO		(2) AKC	A, LLC		ISTRUCTION IP, LLC
() indica	ates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
;	SECTION:	0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
THERMOP THERMOP	0711 17 1 PLASTIC, REI PLASTIC PAV SS- SURFACE		2,000.000 NG SF	2.00000	4,000.00	6.00000	12,000.00	1.95000	3,900.00
PERMANE	0713103101 ENT TAPE, W CRETE BRID	HITE, SOLID, GES	2.000 6" GM	19,600.00000	39,200.00	15,000.00000	30,000.00	27,300.00000	54,600.00
PERMANE		HITE, CONCRETE	2.000 GM	6,000.00000	12,000.00	5,000.00000	10,000.00	8,800.00000	17,600.00
PERMANE	0713103201 ENT TAPE, YE CRETE BRID	ELLOW, SOLIE GES	2.000 O, 6" GM	19,600.00000	39,200.00	15,000.00000	30,000.00	27,300.00000	54,600.00
PERMANE	DOTTED, 6" I	ELLOW, 10-30 FOR CONCRE		6,000.00000	12,000.00	5,000.00000	10,000.00	8,800.00000	17,600.00
PERMANE		_ACK, CONCRETE	2.000 GM	6,000.00000	12,000.00	5,000.00000	10,000.00	8,800.00000	17,600.00
	0713107 MED/PERMAN	NENT TAPE,	1,000.000 SF	3.00000	3,000.00	6.00000	6,000.00	3.00000	3,000.00
REFLECTI MARKER(I	E706 1 42 IVE PAVEME REMOVE AN ()(CLASS B)		2,817.000 EA	5.00000	14,085.00	4.00000	11,268.00	4.25000	11,972.25





Tabulation of Bids

Page 5 of 6

Lettin	g : 0	4220401	April 01, 2022	Cal	II Order: 002		Contract:	E4V88-R0	
	No / Item ID	Alterna	ate Quantity Units	(1) ROAD RUNN TECHNOLO		(2) AKC	A, LLC		NSTRUCTION JP, LLC
() in	dicates item is b	id as Lump Sun	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0135 THERM SOLID,	E711 11121 10PLASTIC, S 6"	TANDARD, W	2,000.000 VHITE, LF	0.90000	1,800.00	0.85000	1,700.00	1.65000	3,300.00
0140 THERM SKIP, 6	E711 11141 10PLASTIC, S	TANDARD, W	2,000.000 VHITE, LF	1.30000	2,600.00	0.85000	1,700.00	1.25000	2,500.00
	E711 11221 10PLASTIC, S W, SOLID, 6"	TANDARD,	2,000.000 LF	0.90000	1,800.00	0.85000	1,700.00	1.65000	3,300.00
	E711 11241 MOPLASTIC, S W, SKIP, 6"	TANDARD,	2,000.000 LF	1.20000	2,400.00	0.85000	1,700.00	1.25000	2,500.00
00	01 PAVEMEN (LARGE MA		Section Totals:		\$403,855.00		\$443,768.00		\$552,472.25
		Contract (Grand Totals:		\$403,855.00		\$443,768.00		552,472.25



04/01/2022

Tabulation of Bids

Page 6 of 6

Letting: 04220401

April 01, 2022

Call Order: 002

Contract:

E4V88-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.